

Class
$$Q \neq 27$$
 Show work

 $f(x) = \sqrt{6-2x}$ Show work

 $f($

write
$$\sqrt{50} - \sqrt{-36}$$
 in Complex Sorm.

= $\sqrt{125}\sqrt{2} - \sqrt{36}\sqrt{-1}$

= $5\sqrt{2} - 6i$ Real Part $5\sqrt{2}$

Im. Part -6

- $\sqrt{121} + \sqrt{-75}$

= $-11 + 5\sqrt{3}i$ Re. Part -11

= $-11 + 5\sqrt{3}i$ Im. Part $5\sqrt{3}$

Simplify
$$-3(-2+5i) + 4i(-3-2i)$$
Distribute
and
$$5implify$$

$$= 6 - 15i - 12i - 8i^{2}$$

$$= 6 - 27i - 8(-1) = 6 - 27i + 8$$

$$= 14 - 27i$$

$$= 14 - 27i$$
Tyn. Rut - 27

Simplify
$$(1+2i)(5-3i)$$
= 5 - 3i + 10i - 6i
= 5 + 7i - 6(-1) = 5 + 7i + 6
Re. Part 11
= 11 + 7i
Im. Part 7

It is common to use Z for complex numbers

If
$$Z=a+bi$$
, then $\overline{Z}=a-bi$
 $Z-bar$

Z is the complex Conjugate of Z.

$$Z = -4 - 5i$$
 $\overline{Z} = -4 + 5i$

Suppose Z= 3+41

2)
$$7.\overline{2} = (3+4i)(3-4i)$$

=9-42[+12[-16]
=9-16(-1)=9+16=25]

3)
$$Z^2 = (3+4i)^2 = (3+4i)(3+4i)$$

= 9 + 12i +12i +16i²

Given
$$Z = -2 - 3i$$

1) $\overline{Z} = -2 + 3i$
2) $Z \cdot \overline{Z} = (-2 - 3i)(-2 + 3i)$
= $4 - 6i + 6i - 9i^2 = 4 - 9(-1)$
= $4 + 6i + 6i + 9i^2$
= $4 + 12i + 9(-1)$
= $4 + 12i - 9 = -5 + 12i$
Re. Port -5
Im. Port 12

Simplist:

$$4\sqrt{18} - 6\sqrt{50}$$

 $= 4\sqrt{9}\sqrt{2} - 6\sqrt{25}\sqrt{2}$
 $= 4.3\sqrt{2} - 6.5\sqrt{2}$
 $= 12\sqrt{2} - 30\sqrt{2} = -18\sqrt{2}$
Simplist:
 $3\sqrt{5}(2\sqrt{5} - \sqrt{10})$
 $= 6\sqrt{25} - 3\sqrt{50}$
 $= 6.5 - 3\sqrt{25}\sqrt{2}$
 $= 30 - 3.5\sqrt{2} = 30 - 15\sqrt{2}$

Simplify
$$(\sqrt{3} + \sqrt{2})(\sqrt{3} - \sqrt{2})$$

$$= \sqrt{9} - \sqrt{6} + \sqrt{6} - \sqrt{4} = 3 - 2 = 1$$
Simplify
$$(\sqrt{6} + 2\sqrt{2})(2\sqrt{6} - \sqrt{2})$$

$$= 2\sqrt{36} - \sqrt{12} + 4\sqrt{12} - 2\sqrt{4}$$

$$= 2\cdot 6 + 3\sqrt{12} - 2\cdot 2$$

$$= 12 + 3\sqrt{4}\sqrt{3} - 4$$

$$= 8 + 3\cdot 2\sqrt{3} = 8 + 6\sqrt{3}$$

Solve
$$\chi = \sqrt{3\chi + 4} = 0$$

Always isolate one radical

Raise both Sides to the index fower index = 2

$$\chi^2 = 3\chi + 4$$

$$\chi^2 = 3\chi + 4$$

$$\chi^2 = 3\chi - 4 = 0$$

$$\chi^2 = 3\chi + 4$$

$$\chi^2 = 3\chi - 4 = 0$$

$$\chi^2 = 3\chi + 4$$

Solve
$$x = \sqrt{3x-3}$$
 (-3) Always isolate one radical $x + 3 = \sqrt{2x-3}$ Raise both sides to 2nd power index = 2 $(x+3)(x+3) = 2x-3$ $(x+3)(x+3) = 2x-3$ Not Factorable $x^2 + 6x + 9 - 2x + 3 = 0$ use other $x^2 + 4x + 12 = 0$ methods.

Class QZ 28

1) Simplify
$$2\sqrt{34} - \sqrt{54}$$
 Style only

 $= 2\sqrt{4}\sqrt{6} - \sqrt{9}\sqrt{6} = 2.2\sqrt{6} - 3\sqrt{6}$
 $= 4\sqrt{6} - 3\sqrt{6} = \sqrt{6}$

2) Simplify $2\sqrt{6} - \sqrt{3}$
 $= 2\sqrt{36} - 2\sqrt{18} = 2.6 - 2\sqrt{9}\sqrt{2}$
 $= 12 - 6\sqrt{2}$
 $= 12 - 6\sqrt{2}$